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Throo difforant Q points are shown on o load Hine Ty
Intermediate curmant W,

(a) Minimum current gain i
Et]‘ Hmmum eurrent ﬂ:ﬁlﬂ |,|'H il afl 111.!"“.

The n.e. equivalont eircuit ix derived from the sriginal et by shaorting all :
(n)  Resistors, i lnduetors,
) Transistors. (d)  Capacilors,

The input impedance of a JFET

(a)  Approachos zoro. (Y Approaches one.

(e} Approaches infinity, () Impossible te prodict.
Amplitude modulation is used for broadensting beoause

(n) It is more noise immuno,

(h) It requires lons transmilting power,

(e} Its use avoids recoiver comploxity.

(d) It gives lange bandwidth for high fidelity.

Each 4-bit binary group is called :

{n) Bit. (b} Nibble,
(¢} Byte, ) Word
A combinational eircuit can be designed using onl y !
(a) AND gates. (b) OR gates.
(e} OR and X-NOR gates. (d) NOR gatos.
An AND gate ean be imagined as :

(n)  Bwitches connected in series.

(1) Switches connocted in parallsl,
fe)  Transistors connected in sorie
() Transistors connected in parallel

ppor G it gven the
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Why is the binary number used in digital systoms 7
(8 % 1 =9 weightage)
Part C
Angwer any five questions,
- Each question carries 2 weightage.

volt :-F-E- e ranging from 16 V to 20 V and a load current ranging from SmA to 20 mA. If the zener

(6w 2 = 10 weightage!

Turn sver
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Pt 1)

Anmwor any Lwo guestions.
Each question earrivs 4 weightoge.

Faxplain tha working of s full wave rectifier, What i= o filter cireuit ? Explain any one type ﬂfnﬁ]*
pirouit. How doew s filtor eireuit affvet the ripple factor ?

Bosaribe the working of RO coupled amplifier. Uging the n.e. equivalent cireuit obtain an eXpresy,
for the amplification. Draw the frequency response and define band width,

Explain the working of an op-amp as (i) Differentintor ; and (b) Integrator.,

(i) What is the necessity o reduce Boolean expression. Give the procedure to reduce Bolo

exprossion | and (b) What are universal gatos 7 Explain the working of NAND and NOR gates o
universal gates,

(2 x 4 = B weightag)
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